fid AT EE AR | B2
H5 1E Z28 1B HEA R & ERBEN ARSI T 5 %)
et AR TALEE | 2R
[1] 79 0 8 (13.7) , —2 (6.0) , —4 2.7) , 2
5 —8 67 1 33
(1) 53 0 2.7
84 0 11 (5.5) , 2-6/2+9 (4.4) ,
@ | 5] 11-62 51 4 15 2
32 5 6247 (3.8) , —642-7 (3.8)
63 5
@ |5 2Ax+Dx-1) |6 |17 |47 2(x*—1) @3.1) , 2x+1)x—-2) (1.6)
95 0 —1,—5 (4.4) , 1,—6 (4.4)
4) | 5 =—2, —3 63 9 28
) X 42 11 —1,—6 (2.2) , 2,3 (2.2)
X+ Yy =650 X+y=15 X+y=15 X +80 = 650
5)7 5 X+y:15 68 100 15 0 17 {80xi30y:15 {80xi50y:650 {80+y30:650 {y+30:650
80x +30y =650 21 42
2.2 , (@6 , 1, Q1
A=y 4 K 100 0 (2,13) (2.7, (5,100 (2.2) ,
415 68 13 19
M 11 AR 42 42 (10,5) (1.6) , (11,4) (1.1)
1 63 0 5 11 1 13
6) | 5 - 49 7 44 | =82, —@.8, —@.7, = (2.2
3 11 0 9 36 12 36
74 0
(7 | 5 55 1@ 63 T 3 . 34 |27 (7.1) , 56 (3.8) , 54 (2.2) , 30 (2.2)
74 5 3
8|5 y=3 34 23 44 | 12(7.1), 2(.5), =(3.8), 8(2.7)
21 21 4
42 5 a=2,b=18 (17.6) , a=18,b=2 (3.8) ,
9) | 5| a=0, b=18 22 21 57
5 37 a=—18,b=2 (3.3) , a=0,b=2 (2.2)
N 74 58° (7.1) , 122° (7.1) , 110° (3.3) ,
(10) | 5 /x=116 52 5 43 )
32 0 120° (2.2)
[2] 100 0 70 (2.2) , 2.4 (1.1) , 24 (1.1) , 120
5 60 km 76 11 13
(1) 53 21 (1. 1)
32 26 =6x (16.5) , y=60 (1.6),
@ | 5| y=-6x+60 |17 46 37 |7 y
0 68 y=6x+10 (1.1) , y=6x—60 (1.1)
[3] 1 84 5
5 a=— 46 18 36 | 2 (10.4) , 3 (4.4) , 6 (2.7) , 4 (1.6)
(1) 2 16 21
42 11 =2x (1.1) , y=—2x+2 (1.1) ,
2) | 5 y=2X+6 27 39 35 y y )
0 74 y=3x (1.1) , y=2x* (1.1)
[4] 95 0
I 5 342 cm 37 ) 15 . 48 |3 (11.0) , 642 (6.0), 6 (5.5), 4 (5.5)
95 0
2 |5 A 64 4o 1 0 36 | 7 (18.1) , A4 (8.2) , 7 (6.6)
@ | s 5 0 26 . 11 - 18 (4.9) , 36 (3.8) , 72 (2.7) ,
63m Ccm 0 58 547 (2. 2)
[5] 26 5
5 9 cm 14 15 72 |4 (26.4) , 5 (8.8) , 3 (8.2) , 6 (5.5)
(1) 0 16
@ | 5 ) 9 58 o1 5 . 18 (19.8) , 15 (15.4) , 30 (2.7) , 27
26 ¢m 5 42 ©.7)
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